KA  COMMON FIRST MID - TERM TEsT . 20160

‘ STANDARD . i
Time : 1.15 hours MATHEMAT|CS - .-:.
 PART- 1

Note: i) All questions are compulsory: |
ii) Choose the most appropriate answer from the given four anail

and write option code and answer, 10x1s=
1. IfA, B, and C are invertible matrices 0f some order, then which one of following
; is not true? :
a)adjA = |A] A} - b)adj(AB) = (adjA) (adjB)
c) detA! = (detA)™! d) (ABC)™! = ¢~1g-14-1
cos® -sin@ k 0
2. 1A =1 _Gnp cosp | ANdAdIA) = | | | then k=
$;.0 o8 - b)sin C) cosh - d) 1
3. If A is non-singular matrix of order 3 then |ad] (adjA)| =
a) Al b) |AJ3 c) Al - d) |Al
4. If P(A) = P([A/B]) = 2. Then the system Ax = B of linear equation is
a) consistent and has a unique solution b) consistent

€) consistent and has infinitely many solution . d)inconsistent

| 13 A g
5. The value of _Zl(' 3" s
1=

a)l+i b) i 0) 1 d) 0

1 ]

i+2
6. If IL_] = 1, then the value of s is
; % 1
7. The value of ii2.i3.i% ....... 2020 3
a)l b) 1 c) -1 d) none
8. A nolynomial equation in X of degree n always has
~a) n distinct roots b) n real roots
¢) nimaginary roots d) atmost one root
, 9 'ﬂ'le polvnomial - kx? + 9x has three real zeros and if and only if, k satisfies
g b)k =0 ) Ikl >6 d) |k| = 6

“ are the roots of 9x3 o= 0B i
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PART -

er any three estions . _ A 2x3=6



= VT o
12. If adj (adj A) =10 1 J then find A.
A ) ; _(1—11]3‘ into rectangular f
13. simplify © {7 Y gular orm.r
2i :

14, Find the square root of -5 -
15. Construct a cubic eauation whose roots are 1, 1, -2.

PART - I1X

Note: i) Answerany three questions.
ii) Question number 20 is compulsory. | : 3%3=9

(@i 4" 3

= 3 4

16. Find the rank of matrix - # by row reduction method.
5 -1 7 11

17. Ifz=1+ibea vertex of square in a argand plane; then find the other vertices.

18, In a competitive examination, one mark is awarded for every correct answer
while Ya mark is deducted for every wrong answer. A student answered 100
questions and got 80 marks. How many questions did he answer correctly? (Use

‘Cramer’s rule)
19. Obtain the condition that the roots of x> + px

- 20. Show _ma;m_e equation z3 +2z=0 has five solution.

2 4 gx+r=0arein AP

PART - IV |
~ 4x5=20

Note : Answer all the questions.
21. Four men and 4 women-can finish a piece of work jointly in 3 days while 2 men
and 5 women can finish the same work jointly in 4 days. Find time taken by one

man alone and that of one women alone to finish the same work by using matrix

" jnverson method. (OR)
Find the value of k for vwhich the equation kx - 2y + Z = 1, x - 2ky + 2=-2,
S 2y KZ = 1 have i) No solution ii) unigue solution
~ i) Infinitely many solution. -
22, By using Gaussian elimination method, balance the chemical reaction equation
S G # 0, > CO3 + H,O0 - (CR)

iz+1

s : 22 +1 .
+iyisa complex number such that Im( ) = 0, show that the locus

2 1—2}{2 +x-2y=0.

0 +1sin”29; show matzi- ‘1 tand (OR)

] -‘-.o'fﬁ'-thércubié:._: ation x> + %2 +3x+4=0, form a cubic
1 1als
By

£
(9x+2) 4 2° = 0.
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